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1. SR THI8s T3E= 1 (3096) :
(é) (ez" —3y)dx+ (cosy— 3x)dy =0
& y'+x'y=x"y'
© =2y +y=x*

2. KT FIRE )2 fi [ (Laplace transform) * (15% )
@f@O=e"@+1)?* +
(b) f{f)=sintcost
(c) f O =u(t -, u(r-1) REAPTEFBE(Unit Step Function)

| 3. BRI FEL F(s) 2 B iz i (invers Laplace transform) : (15% ) -

@ F-'(S) B st —flis+5
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(b) F(s)=

SZ

© F(5)=h—"—

4 B mBu=[2-1] v=[,24] #k@) uev®) [(©) p(@ uilvZIemo ? (10%)

5. EHKHE p =[1,-2,| ZBREFER Sx -3y +47-6=0 ZFEHE - (10%)
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6. E%U%E@A;L 0 } Bk 24-347 (47 RAENE A 7 RERE) - (10%)
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7. BEUEREA=|1 -2 0
0 1 2

ZATFI=VE - (10%)




